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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

MGt AFE A 19,894,625 13,673,684 6,220,941
8,374,660
1,132,797

126,330
10,260,838
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H
il
o
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126,330
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g
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,493,150 5,417,787 75,363

J| 545,168
4,947,982

M

BHII=AE 5,459,000 5,384,000 75,000

J| 545,168
4,913,832

HJ

201 L Et2A | 253,000 228,000 25,000

J| 66,000
187,000

M

o
=

e oy 40

]
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o

121,000 96,000 25,000
85,000
36,000
132,000 132,000 0
IZANE &= 132,000
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998,453
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0
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,300,000 1,300,000 0

,300,000

J| 301,547
998,453

O
o
Y
9
P
>
x
e
]
40

Jn
=4

HJ

402 212t X201 & 3,906,000 3,856,000 50,000

177,621
3,728,379

H X

01 (It 2 AL E X (KA 156,000 156,000 0

,000,000& » 12& 156,000
02 (I 2AILE X (01 ETHR) 3,750,000 3,700,000 50,000
Ozteg otk RZAENAY AES 3,750,000

Jl 177,621
3,572,379

HJ

Qj
1>
i
Mo
02
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[l

34,150 33,787 363

201 Zer24l 34,150 33,787 363
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2 M &ot

_/'\_
I 5l4E e
¢el: ot=ELHel B (St AS2IILSESAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oste2d B3ot=HelAg B> 19,500
OsY ZB3H=HMelAE E= 260,000
Odd B3ot=HelAlE E= 146,500
Os=sY% S3o=XlAE B+ 42,000
OE=2H =2l 2 40 SHEZEEY E5 170,000
O=4tarEoke 2 12004 A2 HelAE B 84,500
Oztex B30 HaHelAE 28+ 70,000
OL=2d ZI3ot=HelAE SEFFx G
=N 850,000
OdgdH B35t=HMelAld =&t 6,500
J| 6,500
OsS=% B3ct=HMelAlE ==&t 15,000
J| 15,000
St Xl MelAld 556,120 588,400 A 32,280
201 L2l 419,670 376,400 43,270
01 At 22l 73,670 30,400 43,270
Oste= ot==ad Xl XMelAld 1stE8 28 2
X eldl 72,270
Ost& ot==2 Xl MelAld DA HI1Z
At 200
Oste ot==2d Xl MelAlE UIIE 2SS
ESEDN D) =] 1,200
02 =224l 346,000 346,000 0
Ost&= ot Xl MelAld &3
5,500,000& = 12& 66,000
Oste ot=&2d Xl MelAl&d JtAHI
15,000,000& = 12& 180,000
Odtes=el Xl F4&XHeldl 100,000
401 Al HIZ 201 8] 136,450 212,000 AT5,550
01 A& HI 136,450 212,000 AT5,550
Oste dt=slXl MelAld 2= 136,450
SH s3HX SSH==HM2AAE HEAS 1,410,000 300,000 1,110,000
= 1,410,000
401 AIEHI L 20 1,410,000 300,000 1,110,000
= 1,410,000
01 A& HI 1,260,000 300,000 960,000
OSH S3HX S3H=XelAIE HEAMS 1,260,000
= 1,260,000
02 Zeltl 150,000 0 150,000
Os8 s3HX SSH==HMlAIE HEAY 150,000
= 150,000
SH S3H=XM2E BATE T2 OSBAY 268,000 0 268,000
401 A& HIZ 201 8] 268,000 0 268,000




A dot=Z A A
M ot 2
¢el: ot=ELHel B (St AS2IILSESAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 248,000 0 248,000
OsY S3H=Xcld BASE Z2OHAY 248,000
02 2eltl 20,000 0 20,000
OSH S3H=+=HXMcld $A2S5E T2 08 MY 20,000
St=E2d S3ot=HMad BASE T2 A 240,000 0 240,000
401 AIEHI L 20HEI 240,000 0 240,000
01 A& Hl 220,000 0 220,000
Ostlz=23d Z3dt=HMeld BAFY T2
A 220,000
02 Zteltl 20,000 0 20,000
Oste=2d S3ot=Held BA=Zg T2
A 20,000
=g S3otrHMeld HASE ZZ20BAMY 290,000 0 290,000
401 AIEHI L 20 290,000 0 290,000
01 A& Bl 270,000 0 270,000
Osteg S3ot=Held BASE ZZ2OA
A 270,000
02 Zeltl 20,000 0 20,000
Ozteg S3ot==Held BASEH ZZ2OA
o 20,000
St=MMNII XMelAld SEAad 415,000 0 415,000
= 300,000
J| 37,072
< 26,000
[ia 51,928
401 AIEHIZL 20 415,000 0 415,000
= 300,000
J| 37,072
= 26,000
= 51,928
01 A& Hl 382,000 0 382,000
Odt==MMNIl MelAlE SEAY 382,000
= 300,000
| 37,072
< 26,000
e 18,928
02 2feldl 30,000 0 30,000
Odt=MMNIl MelAld SEAY 30,000
03 Al 2 THHI 3,000 0 3,000
Ost==NMMNIl MelAlE SEAY 3,000
St=2d S3ot=HMadAE HEAY 543,000 0 543,000
= 500,000
< 43,000
401 A& HIZ 201 I 543,000 0 543,000




AN dot=SAFE A
HE: 54c 2el
¢el: ot=ELHel B (St AS2IILSESAH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 500,000
< 43,000
01 A& HI 543,000 0 543,000
Ostz=2d Z3ot=XelAlE HEAY 543,000
= 500,000
< 43,000
St=Ald HUl (St At SO EEE 3 ) 8,217,377 3,917,000 4,300,377
= 6,164,660
J| 529,057
= 57,330
i 1,466,330
St=2t013Hl & |X2el 500,000 0 500,000
401 AIEHI L 2] 500,000 0 500,000
01 A& HI 500,000 0 500,000
OsY M&el ot=22 HHIAY 500,000
2O, AN S22 ZHIAY 1,394,145 2,000,000 A 605,855
= 1,295,000
J| 96,145
s 3,000
401 Al HI K 201 1,394,145 2,000,000 A 605,855
= 1,295,000
J| 96,145
[ia 3,000
01 A& HI 1,391,145 1,895,000 A 503,855
OgN . 2HAX T ot+22 HHIAY 1,391,145
= 1,295,000
J| 96,145
03 A& =TI 3,000 5,000 A 2,000
O BHAHAXIF ot=22 HHIALLY 3,000
EZXF S22 FHIAMY 3,948,090 917,000 3,031,090
= 3,213,000
J| 332,090
[ia 403,000
401 AIEHI L 2CHEI 3,948,090 917,000 3,031,090
= 3,213,000
J| 332,090
s 403,000
01 A& HI 3,545,090 812,000 2,733,090
OE=2X=F ot==22 FHAY 3,545,090
= 3,213,000
J| 332,090
02 2feldl 400,000 100,000 300,000
E=X+ ot=22 A 400,000
03 Al 2 THHI 3,000 5,000 A 2,000
OE=2X+F ot==22 FHAY 3,000




2N

X{ XH -
S =

el Al (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
U8RI F =622 ZHIAM 645,822 1,000,000 N 354,178
= 442,000
J| 100,822
s 103,000
401 Al HI R 201 I 645,822 1,000,000 A 354,178
= 442,000
J| 100,822
s 103,000
01 A& 8l 542,822 975,000 AN432,178
OZYEXXNT =ot+=22 FHAY 542,822
= 442,000
J| 100,822
02 2teltl 100,000 20,000 80,000
OZYEXXF -=ot+=22 A 100,000
03 AlE 2 THHI 3,000 5,000 A 2,000
OZYEXXT =ot+=22 FHAY 3,000
steg SZot+HAANE(2522) Sl =7AY 229,320 0 229,320
= 114,660
< 57,330
e 57,330
401 A& HIZ 2018 229,320 0 229,320
= 114,660
< 57,330
i 57,330
01 A& HI 229,320 0 229,320
Osteg B3ot=HelANE(2s+22) sal=
A 229,320
= 114,660
< 57,330
[ia 57,330
LSot=22 FUXTA 1,000,000 0 1,000,000
= 600,000
e 400,000
401 Al HI L 2T 1,000,000 0 1,000,000
2 600,000
e 400,000
01 A& HI 1,000,000 0 1,000,000
OkL= ot=22 LA 1,000,000
= 600,000
[ia 400,000
=28 St+=22 FHIAMY 500,000 0 500,000
= 500,000
401 AlEHI 22 0hYI 500,000 0 500,000
= 500,000
01 A& tl 500,000 0 500,000




EA: Mot A A
B slas 22
Sl BHAAIE BEI(GHEEARBIIYSHESH) (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Ost=2d o222 HBIAIY 500,000
= 500,000
HHSHAL| (Mot TAFE A) 320,294 316,404 3,890
I S2AY| (Gl A Z2IIHELHEAH) 315,334 310,484 4,850
ol 29| (3t %) 315,334 310,484 4,850
101 2124 d| 238,406 234,747 3,659
01 E2 238,406 234,747 3,659
OPIE=3=1 161,114
- 63 (IIEEE20)
3,839,100&  3¥H * 128 138,208
—9=2(JI&=&26) 1,908,800 » 1&H = 128 22,906
OlRas32d ¢ 5,755
— 6= 3,898,600& * 3% * 0.041 = 12& 5,755
Oo&d=2s+4Y S 15,847
824 161,114,000 = 0.93 / 12€ 12,487
— 220183 3,120
20 0] &t 100,000& * 1¥ = 12& 1,200
154 ~ 208 0] gt
80,000& x 2¥  12& 1,920
— 22O 3 240
20 Ol &b ~ 25 (Of Gt
10,000& » 2% * 12& 240
OEsY 5,280
— B Xt 40,0003 * 398 = 12& 1,440
—JIEt B22LIH=E 20,0008 » 3H x 12& 720
— XM A 20,000& * 2% = 128 480
— =AY 60,000 » 2 x 12& 1,440
— AT X Of & 100,000& + 1Y = 12& 1,200
OXNFEHIEXZLE 3,747
—1sstu 468,300& * 2% * 43| 3,747
OJlsd2s4 1,320
—6~73 30,0008 * 39 * 12& 1,080
— 8= 0Iat 20,000& x 1 = 128 240
OJdleX&AS AKX JpA2 1,080
—JIAHZ 30,000& + 38 « 12& 1,080
OAZ2AZ22E 16,131
— 62 12,002 * 30AI2t » 3 * 12& 12,963
- 92 8,798& * 30AI2t = 1€ = 128 3,168
OFHZ A 140,000 * 49 « 12& 6,720
OY & FIHy| 13,426, 166& * 0.6 * 23] 16,112
O I Al Y|
13,426,166& = 0.86 / 30 » 10 3,849
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